EARAROBEEIERT — 2 N— IBISH —F

201956 86H () 5MESF#3H

mﬂﬁ%c O 5% —M (xwlw | lmEmml - |5 5) wom 8
[AE4£] 17 :200,000" ~ 23%&:46,000 "  33&:20,000H . 437&:14,000H .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- b AT ES :29. —-2-2- . — REH (%1)
i 6| 7HFFE i 4 ASQ%% 1(2_9)2 2-2-2-1 | 39.6 2 zzg)s Eo A
R:Ayaizgr—X B:eAlyzAT BRI EKKE
it 5 | AR 1:29.8 5-4-3-3 | 39.7| — 3 461 | Wb (S21)
217|7 TJq14F—L 54.0 3) 0 EARE
L4 a B:NFARRAIL FE RS
L R= it 5 | BHEN 1:30.4 4-5-4-4 | 40.3| — 6 383 | fEAE= (1)
3/8|9 Ly K741 L 54.0 (3) “+7) WAEx N
R:F4—T2h4 B:Ly RITFR RN
B4 | EE2EH 1:30.7 1-1-1-1 | 41.2| — 1 467 | HEEFIEE] (M)
40111 7)) —LEI K 54.0 (a 1/2) (+6) a01%— ©
R:/JxVIXN B:7074—K ST r—L
S w wIE :30. -8-7- . — HIEER (1)
5 A 3YTEE— o7 poin 1(310)9 8-8-7-7 | 39.3 8 ;1_23 i A
RIIVTFE—EL BIVTEFI-ZX> YT RKS
o= S it 5 | Blafit 1:31.4 6-66-6 | 40.6 | — 7 436 | BEEHER (512)
6[5/5| 7L FFVa>X 54.0 @ 1/2) o | &) F—xr7
L:xrinam— B:xA4JIbooay b avEEKRSH T Y3 UR
> AR o4 | WTHZ 1:31.8 6-7-8-8 | 40.2| — 5 484 | JIUBBLTE (S£42)
]2 RARIVINT ) T 56.0 ) 5) (#) 777;\#&’:/“3‘/
R:IA>T7Fyvva BA-F4+ILX 5 5
_ . . ARRIE . —3-5- — DNEE=fR (5HR)
sla|s| 57 7RI ERRE [ | s |e2| | 4| e HECE
R:F4—TA>nN7 b B:X¥vE-XT-LFo¥ri HET7—L
- S # 5 | RBHEZ 1:32.2 9-9-9-9 [39.8| — 9 433 | BEEHIE®R (512)
9 3 =<y b ;6.0E (172) -3) () ;—Z;T'
R:UA7% B:Z—<IF kX S
® I—F—@EBIERL
|S=7r= 1,6,8,9,7,(2,5),4,3
Ao=5"= 1,6,8,7,9,5,2,4,3
T =35r= 1,6,7,9,8,5,4,2,3
41—F— (1,6),7,9,8,5,4,2,3
[ RN
B 6 360M 794K 6-7 190M & 6-7 600M &R 6-7-9 2,860/
# B 6 140 6-9 870M B E 6-7 490 EE 6-7-9 9,280
7 120 7-9 600M B H 6-7 1,120/
9 260M

ABICOVWTRDTEEERROODE. TR LIV,




